
Here are 5 different systems I am calculating out armor points for

· Current 1.5:

· 10 location system

· Self-explanatory, max of 18. Has gambeson, vitals, and set/complete bonuses
· L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

· 6 location system (Head, Torso, Arm, Arm, Leg, Leg)

· This is a very simple progression system for counting but involves halves as partials. NO ROUNDING UP
· L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

· 6 location system (Head, Torso, Arm, Arm, Leg, Leg)

· This is a very simple progression system for counting but involves halves as partials. NO ROUNDING UP
The yellow highlighted entries are anomalies or concerns where the points are very different from 1.5 rules. However, 1.5 did not capture medium armor very well, so it was a bit on the lighter end than where it possibly should have been.

In the 1st system (0.5x2, 1x2, 1.5x2) if we have a conditional rule of “If you are wearing a gambeson, round any half points up) then it actually makes things even out even better.

The biggest anomalies I noticed were heavy armor in limbs in the 1st system.
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Current 1.5:
4.5 pts (Gamb)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

4
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+1Gamb, +Vitals(L=1,M=2,H=3, max 16)

4.5
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Current 1.5:
7.5 pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

4.5
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

5
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Current 1.5:
2 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

2pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

2 pts
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Current 1.5:
5.5 pts (6.5 gamb)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

9
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

7 (8 gamb)
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Current 1.5:
6 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

5.5
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

5.5

[image: image6.jpg]



****ASSUMING GREAVES ARE SAME/MATCHING

Current 1.5:
8.5 pts (9.5 gamb)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
7.5

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

7.5 (8.5 gamb)

[image: image7.jpg]



Current 1.5:
9 pts (10 gamb, 11 coverage)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

11.5
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

11 (12 gamb)
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Current 1.5:
8.5 pts (9.5 Gamb)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

9.5

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

9 pts (10 gamb)
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Current 1.5:
2pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

2 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

2 pts
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Current 1.5:
2 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

1.5 
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

1.5
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Current 1.5:
4 pts (light)
5 pts (medium)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
5
10
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)
5
7.5 (8.5 gamb)
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Current 1.5:
2 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

1 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

1 pts

*Im assuming the strips in front are cloth and there are no butt armor panels. None of the limbs count enough ffor basic
This is a tough one because the arms are REALLY close to 50% and the leg panels are  REALLY close to 50%. If there are butt panels on this, I would count each leg as Basic Light Armor, which would bump this up to 2 pts of armor for both systems.
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Current 1.5
5 pts (6 Gamb)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

5 pts

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

5  pts (6 gamb)
[image: image14.jpg]H
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Current 1.5:
4.5
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

3 pts

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

4 points
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Current 1.5:
4.5
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

5 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

5 (6 gamb)
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Current 1.5:
3.5
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

4 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

4 pts
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Current 1.5:
5 pts (Medium torso)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

6 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

5.5 (6.5 gamb)
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Current 1.5:
7 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

6 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

7 pts ( 8 gamb)

*Assuming the face/side cheeks are amble coverage for 75%
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Current 1.5:
3.5  pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

3 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

3 (4 gamb)
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Current 1.5:
2 pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

1  pt
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)
1 pts (2 gamb)

*Sucks, but the bracers, greaves, and circlet helm just aren’t enough to count
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Current 1.5:
8.5 (9.5 gamb)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

13
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

8 (9 gamb)

*Assuming bracers cover elbows and greaves only cover knees
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Current 1.5:
Helm  Guy = 18 pts,     No Helm Guy = 12 pts (gamb),     Red Shirt Guy = 2 pts,     Black Shirt Guy = 1.5 pts 

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
18 pts
15 pts
1.5 pts
1.5 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

15 pts (16 gamb)
10 pts (11 gamb)
1 pt
1 pt
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Current 1.5:
8 (9 gamb, 10 coverage)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

8.5
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

9.5 (10.5 gamb)
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Current 1.5:
3.5 pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

3 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

2.5 (3.5 gamb)
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Current 1.5:
15.5 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

15.5
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

13.5 (14.5 gamb)
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Current 1.5:
9 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

9

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

9 (10 gamb)
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Current 1.5:
10 pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

14 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

9 (10 gamb)
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Current 1.5
3 pts
6 pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

2 pts
5 pts

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

1.5 (2.5 Gamb)
5 pts (6 gamb)
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Current 1.5
8 (9 gamb, 10 coverage) pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

9.5

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

11 (12 gamb)
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Current 1.5
8 pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

8.5

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

8.5
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Current 1.5

6.5 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
5.5

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

3.5 (4.5 gamb)
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Current 1.5

10 (11 gamb)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
10.5

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

10 (11 gamb)
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Current 1.5

6 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

4.5
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

6 pts (7 gamb)
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Current 1.5

7.5 pts (assuming torso is Basic Light, which qualifies for vitals)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
9.5 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

7.5 (8.5 gamb)
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Current 1.5

8.5
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
8 pts

L= 0.5B+0.5C / M= 1B+ 0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

6.5  (7.5 gamb)
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Current 1.5

2.75
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

5 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1B (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

3.5
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Current 1.5

3 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
4 pts

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)
3 pts
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Current 1.5

10 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
8 pts 
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

9 pts (10 gamb)
*assuming greaves ae 50%+
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Current 1.5

11 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

14 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

13 (14 gamb)
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Current 1.5

8 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

6 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)
7 pts (8 gamb)
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Current 1.5

9 (10 gamb)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
10 pts

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

8 pts (9 gamb)
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Current 1.5

4 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
3.5
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

2.5
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Current 1.5

7 pts (8 gamb)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
6.5
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)
7 pts (8 gamb)
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Current 1.5

7.5 (8.5 gamb)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
8.5 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

9 (10 gamb)
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Current 1.5

7.5 (8.5 gamb)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
8.5
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)
8pts (9 gamb)
*Assuming the thighs are not long enough to qualify for 50%
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Current 1.5

8 pts (9 gamb)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

10.5
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)
10 pts (11 gamb)
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Current 1.5

10 (11 gamb)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
12.5 pts

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

11 (12 gamb)
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Current 1.5

12 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

13 pts
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

11.5 (12.5 gamb)
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Current 1.5

13 pts
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)
14 pts

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

11.5 (12.5 gamb)
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Current 1.5

2.5
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

2.5
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

2 pts
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Current 1.5

7.5

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

8.5

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

8.5 (9.5 gamb)
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Current 1.5

9 pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

10.5

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

10 pts (11 gamb)
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Current 1.5

8.5 (9.5 gamb) pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

8
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

9.5 (10.5 Gamb)
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Current 1.5

7.5 pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

6.5

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

7 (8 gamb)
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Current 1.5

13 pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

14.5

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

12.5 (13.5 Gamb)

[image: image56.jpg]



Current 1.5

8 (9 gamb) pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

8

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

6.5 (7 gamb)
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Current 1.5

6.5 (7.5 gamb) pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

13
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

8.5  (9.5 gamb)

[image: image58.jpg]



Current 1.5

7 pts (8 gamb)
L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

12
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

8 (9 gamb)

[image: image59.jpg]



Current 1.5

11 (12 gamb) pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

13.5

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

12 (13 gamb)
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Current 1.5

4 points (5 gamb)

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

4

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

3 pts ( 4 gamb)
*This armor is only considered LIGHT torso due to it being about 35% metal and 65% leather
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Current 1.5

9 (10 gamb) pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

15
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

11
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Current 1.5

11 (12 gamb, 13 coverage) pts

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

14.5

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

15 (16 gamb)
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Current 1.5

5 pts (6 gamb)

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

8
L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

6 (7 gamb)

*Good example of combo armor being counted separately (Basic Heavy, Complete Light)
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Current 1.5

7.25 (8.25 gamb)

L= 0.5x2 / M= 1x2 / H= 1.5x2 (No Gamb, No vitals, max 18)

10

L= 0.5B+0.5C / M= 1B+0.5C / H= 1B+1C (+Gamb, +Vitals(L=1,M=2,H=3, max 16)

7 (8 gamb)
*Good example of combo armor having a better category not count and instead helps round out a lesser category (right arm with the sword, mostly studded padding (light armor more than 50%) with a small metal bracer (heavy less than 50%)
